Vocabulary Workout
A zero pair describes a pair of numbers whose sum equals zero. 

One number in this pair will be positive and one number in this pair will be negative. 
Complete the ZERO PAIRS.
9 and ______
-4 and ______      
    143 and ______            -3, 456 and _________                    

_____________________________________________________________________________

The additive inverse of a number is the number you add to it to get ZERO.

What is the additive inverse for each number. 

-95  ________                  345 ________           22 __________       -923 __________

_____________________________________________________________________________

The opposite of a number is that number with the opposite sign. 
So, the opposite of 12 is _______                       And the opposite of -12 is _______

The opposite of 42 is __________                      and the opposite of -42 is _______       

NAME _____________________________________

